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4 Computation
Technically, for a given value of , de�ne  if

is empty.

If  is in the interior convex hull of , then  will not be empty.

IEL function might not be computable over all possible parameter Evalues)·

If An(E) is empty ,
AndEl= % ,

then In/E) is not defined

=> Define LnCET = 0 (this is the smallest is can be anyways).

=>In (E) > 0 .

-
Hconvex.

H
convex

is the smallest onrex set containing PTIE) . ... ↑(IncE).

E
. g.

if 4isE) = Si-E (sample mean case)
, and

H convex
= [minYi-E ,

maxyi - of

g = 1:..
Y - f

# convey
-

·
-



8 4 Computation

The supremum in the de�nition of  looks nasty, but the form simpli�es if
 for a given . To see this, �x  and let

To maximize  on  and �nd , use Lagrange multipliers  and

 and maximize

over , and .

-

-
f poteor of

If is in H
connex

-

↑
closed and bounded (compact) set in I

=> the supremum (n(1)
=

sup An(E) = suppi : (pic-sin)tDnCEl] is attained

as a maximum ofTp on B.(E) · So = p ... P* EBCE) where InCE)=

(Uniqueness) Supposea ...., q* 60 and pic- > P* O in Bn(e) such thatg
Now let r = <p + (12)q for deto,

1).

if ht (0, 1)
,

it holds thatGloyr> leg p + (a) logGenses

If g holds
,

where M is the maximum op on Ba(E)
,

the

logrilog ,

which cannot be true because is themax B(E)

=> (pic ... pr) which maximizePr on Bo(E) must be unigle !

un um

probability EE moment constraint.
- constraint
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Take derivatives & set to zero:

-
api = n -nEPiHpp)=-
a = n -niE)

& +(p- < Pnix) =-Pa = n

=

api
= 1 -upiT [GisE)

Pi= -npiTY(lis)

Pi = In - PietYisE)
-

pi(l++

[(t))=

:=i

So
,
if Et A convex

,
then

(()=D) where I is determined by solving
.

=pi

=
See Art Owen's website for code/R package.


